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BTECH

o Afienrpt all Section:t ancl tlssume missing dota.
. Ap{trolil'ittte murks *rc allolted lo q ues I i o rr, d ht A,e\t' ar-: card i nglv.

Ql(a) thc five I

Q1(b) needed?are I

Q1(c) is the of 111 i1r] )
Qt(d) Defiugjfrarying and the reason f'odts need.
Ql(,r) when r.ve usc the local loop of tl,e tclephoncaccessws need a

to access
3

Q1(1) [ithernet, !'ast .bthemet,Compare the data rates for
Hthemet.

Q1(e) from dotled- deoimal notation toLPr'4

(, r r 1.56,4s.78
221.34.7

Change

s

Q10n l-ist three transition strctegies to move fi'om lPv4 to lPv6. "ru-
Qr(i) What is the nraxirnuur size of the

datagram?
that can be cncapsulated in a LJIIP

. ,t:

Q1(j) flow isHmP 5

Q2(a) How do*s information get
systsm is using NRZ-I to
and minirnum bandwidth?

the next in thc intcmct modcl? A
What are the avcr&ge signal rate

1

Q2ft) (i) What is the position rlthe lransrnissiot meclia in the OSI
model'.)

{ii) Dehne piggyhacking and its uselllness.

or the Internet 2

Q2(c) Deseribs fhe working principle and architecture of .tsfiiM$oth 802.11 standard. _1

Q2{d) Siv-e a detailed account on Class{hl and
define Address dcpletion issue.

Classless A.ddressing in ll'v4 protoc*l. Aiso, 4

Q2{e) the working of Key Cryptography

the fundamental
levels r.rf standards.

o1' data comrlunication sysiem along

5

I

Q3(b) Categorize the four basic topologies in term of line configuration and explain it. I

Qa(a) point protocol. I)iseuss framc lornrat lot"the wor*ing 2

Q4(b) fwo simple algorithms bit-stuffing. 'l"hc first adds bits at thc senrler;

rcmoves bits at tht:

,
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Q5{a) in brief.
Q5(b) do we $ay colli$ion

? Prove that
Why do rve
is l/c.

is analog

Q6(a) is congesfion and
of

theare ()fCAIISCS congcstion token

Q6(b)

ls there
and rr,,hy the lPv4 ancl IPv6

between the hvo in this
to

Q7(a) the TCP header
from UDP

the U.DP header. List the fields in the TCP header
Giye the rcason for thcir absen$e.

'I'ransaction
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